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2. Which of the following is false for the polymorphism of object-oriented programming?
A. the binding of the method of the object related to the polymorphism is determined in compiling time
B. provides a mechanism to process the future and unknown problem in a predefined way
C. object of parent class can reference the object of child class
D. the inheritance relationship should be designed before applying the polymorphism
E. overloading mechanism is different from polymorphism
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3. Which of the following is false about the characteristic of object-oriented programming?
A. the inherence mechanism can enhance the code reuse
B. information hiding can speed up the compiling speed
C. static member function works like function library in C
D. object declaration without new did not involve memory allocation for it
E. object name is a reference vanable
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7. Which of the following is false for the linked list?

A. double linked list provides forward and backward move from a node

B. First come first serve can be implemented by linked list

C. linked list can be implemented by an array with sufficient array size

D. double linked list outperforms the circular link list in searching an element if no index and no sorting
E. a tree can be transformed into a linked list by some traverse algorithm
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13. Which one is false for graph?
A. the algorithm to find the shortest path from a specific node to another specific node in the graph is

a permutation problem

B. the algorithm to find the shortest path from a specific node to all other nodes in the graph can adopt
the greedy method

C. the adjacent matrix for a graph is simple but costs a lot of memory

D. the adjacent list for a graph is simple and saves a lot of memory

E. the costs of an edge between two nodes cannot be quantified
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%8 B® (Graph)
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BHGCGREBTRLEALA VG EALAERAR * A TEBG=(V, E)-°
V= TRE%E4 (Vertex) ’
E=#%%4 (Edge)

G=(V,E
vV ={1, 2 3}
E=1{Q1 2,2 3,13}
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18. Which one is false for electronic commercial (EC)?
A. EC can be classified as C2C, B2C, B2C, and so on
B. reputation of a service in EC can be got from the rating by the involved actors in the EC transaction
C. 020 used in EC is the abbreviation of “office to office™
D. encrypted communication is important in EC
E. The data collected from the transaction of EC can be used to mine valuable information to facilitate
the operation of EC.
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2. (Multiple choice) Which of the following sorting algorithms has the lowest worst-

case time complexity? (5%)

A. Selection sort

B. Merge sort

C. Bubble sort D. Insertion sort
E. Quick sort
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Initial

26, 5, 77, 1, 61, 11, 389, 15, 48, 19

1

[5, 26], [1, 77], [11, 61], [15, 59], [19, 48]

[1, 5, 26, 77], [11, 15, 59, 61], [19, 48]

[1, 5, 11, 15, 26, 59, 61, 77], [19, 48]

2
3
4

[1, 5, 11, 15, 19, 26, 48, 59, 61, 77]

2. #Astable sort °

! Merge & O(m+n) * * 18 mergeSort & O(nlogn) °

5. Please describe the three main components of a CPU. (10%)
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3. %1% (Register) ' RHEHEHBEELMENENALR
CREHMAACREATHEREMNRBOELE - FROY
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6. Compute 1 — 3’ using 2’s complement in 3-bit signed integers. (10%)
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(=) 28y # ¥ (2’s Complement )
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7. What is the height of a complete binary tree with 12793 nodes? (10%)
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10. Please describe the procedure of transmitting a digitally signed message using

RSA and SHA. (10%)
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4P RM2IEREH

il 5 i — (R R

Encryption flow
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